TS

SPACE-RAY, ) )

RADIANT GAS BROODERS ' L F AN
\eie )\t

SINGLE JET BROODER
MODELS:SSJ3®NI/L (2A, 2B, 3, 9, 5B, 5D)

INSTALLATION AND OPERATION INSTRUCTIONS

FOR YOUR SAFET

/ WHAT TO DO IF YOU SMELL GAS

Do not try to light any appliance. Extinguish any open flame. Open windows.
Do not touch any electrial switch; do not use any telephone in your building.

|l mmedi ately call your gas supplier from a ne

supplier's instructions.
If you cannot reach your gas supplier, call the fire department.

I IMPORTANTSAVE THIS MANUAIOR FUTURE REFERENCE.

DO NOT store or use gasoline or other flammable vapors and liquids in the vicinity
this or any other appliance.

CONSIGNES DE SECURITE

/ QUE FAIRE S| UNE ODEUR DE GAZ EST DECELEE?

NE mettre en fonction aucun appareil. Eteindre toute flamme nue.Ouvrir les fenétres.

NE PAS toucher aux commutateurs. NE PAS utiliser de téléphone dans le batiment

Appeler immédiatement le fournisseur de gaz en utilisant le téléphone d'un voisin. Suivre les
instructions du fournisseur de gaz.

Si le fournisseur de gaz ne peut étre joint, appeler le service des incendies

of

| IMPORTANTCONSERVER LE PRESENT MANUEL POUR REFERENCE ULTERIEURE.

NE PAS stocker ni utiliser dodessencereou
de cet appareil ou de but autre appareil

dodoaut

Form No.

43539049
Oct2013



OWNER/INSTALLER For your safety this manual must be carefully read before installing, operating d
servicing this brooder. This brooder is intended for use with either Natural Gas or Propane Gas. It must
installed by a qualified service person or a licensed contractor in accordance with state and local codes.
the absence of these codes, the installation must conform to the National Fuel Gas Code ANSI Z223.1 (lat
edition) also know a NFPA54 or the CAN/CGB149.1/2 Installati on Code in Canada.

p WARNING Improper installation, adjustment, alteration, service or maintenance can cause injury
property damage or death. Refer to this manual. For assistance or additional information, consult
qualified installer, service agency or the gas supplier

INSPECT Il combustion air openings into the building and, if necessary, clear as they become blocked by
litter, dust, feathers or other matter.

INSPECHNd clean the brooder filters on a regular basis to allow proper brooder operation.

FOR YOUBAFETYEXHAUST FANMUSTbe operating on an appropriate cycle when brooders are operatin
to avoid a high concentration of carbon monoxide. When used without fresh air, this brooder may give
carbon monoxide, an odorless and poisonous gasCARBON MEOXIDE POISONING MAY LEAD TO DE
Early signs of carbon monoxide poisoning resemble the flu with headaches, dizziness and nausea. If
experience these signsGET FRESH AIR IMMEDIATEL¥dve the brooders serviced as soon as possible an
check the ventilation in the house.

These brooders are designed for agricultural applications for poultry houses and may operate with the use
either Natur al Gas or Liquid Propane (LP) Gas.
type before proceeding with installation.

TABLE OF CONTENTS
Section Description Page
1) GENERAL INFORMATION. .. ittt ceeeee ettt e e s emmmeearaaneeeeaaaneeees 2.
2) BROODER SPECIFICATIONS......cooiiiiiiiie et e e e e e e e s veeemsssn e e e e e e eaeeeen 2
3) BROODER CONTROL OPTIQNS.... ..ottt et eememe e eena s 3
4) BROODER ASSEMBLY......cottiiiiiiiiie et ieeeme et e ettt e e e e et e e e e araneeen 4.
5) MINIMUM CLEARANCES TO COMBUSTIBLES..........cooviiiieeeee e 11
6) BROODERNSTALLATION . ...oottiiiiiiiee ettt eee e e e e eraaaes 12
7) GAS CONNECTIONS . ...t ceeemes et mmmme e e e e e e e e eeneeann e s 13
8) ELECTRICAL CONNECTIQNS. ..ottt ieeemee ettt eera e 20
9) LIGHTNG AND SHUTDOWN INSTRUCTIONS.......oouiiiiiies e 23
10) VENTILATION ...ttt eeeme et e e e e e e e et e e e e tba e e s smmnmeesesaasns 26
11) MAINTENANCE ... e rreme s s s s e e e e e e e e e e e e e asnnmneeeeeees 27
12) TROUBLESHOOTING ... .ttt ee et e e et e e eseeeeesesbtaeessasaneeesesbnnas 28
13) REPLACEMENT PARTS GUIDE........covtiiiiiiccee e 31

Form No. 43539049

Oct2013

410



1. GENERAL INFORMATION

This brooder isa self-contained infrared radiant brooder for agricultural locations where flammable gases or
vapors are not generally present.

Installation of the brooders must be in accordance with all applicable codes shown in the instructions and/or
the local codes and authorities having jurisdiction. In the absence of local codes, the brooder must be
installed in accordance to the National Fuel Gas Code ANSI Z223.1/NFPA54 in the U.S. or the CAN/CGA
B149.1/2 Installation Code in Canada. Clearances to combustiblessaoutlined in the manual should always

be observed.

Inspect all openings and filters regularly and clean as necessary. This is necessary because litter, dust,
feathers and other matter can become airborne, clog openings and filters and adversely affectrdoder
operation and performance.

Every brooder should be located with respect to building construction and other equipment so as to permit
access to the brooders. Each installer shall use skillful and reliable installation practices when locating the
brooders and must give consideration to service accessibility.

This brooder is forINDOOR INSTALLATION ONAd is used in anUNVENTEDode. The termUnvented
actually means Indirect Vented While the products of combustion are expelled into the buildingpational
codes require ventilation in the building to dilute these products of combustion. This ventilation must be
provided by gravity or mechanical means. Ventilation requirements are addressed further in these
instructions.

This heater complies wih IAS U.S. No. 84 (Draft No. 2)and CAN1-2-20-M85.

Copies of the National Fuel Gas Code (ANSI Z2234dtest edition) are available from the CSA at 8501 E.
Pleasant Valley Rd., Cleveland, OH 44131 or 55 Scarsdale Road, Don Mills, Ontario M3B 2R3. ARAIF
codes are available from the National Fire Protection Association, Batterymarch Park, Quincy, MA 02269.

2. BROODER SPECIFICATIONS
INPUT RATING Propane Gas: 30,000 Btu/hr 8.79 Kw
Natural Gas: 30,000 Btu/hr 8.79 Kw
GAS SUPPLY PRESSURHE_Propane Gas: 12®&146 W. C. 30.0 0 35.0 mbar
Natural Gas: 7T®146 W. C. 17.4 6 35 mbar
MANIEOLD PRESSURE | Propane Gas: 116 W. C. 27.4 mbar
Natural Gas: 66 W. C. 14.9 mbar
MAIN BURNER Propane Gas: #52 (0.064)
ORIFICE SIZE Natural Gas: #41 (0.096)
PILOT ORIEE SIZE Propane Gas: #79 (0.015)
Natural Gas: #76 (0.020)
MOUNTING HEIGHT 346 864mm
BROODER SPACING 254 006 7.6m 0 12.2m
BROODER SIZE Canopy Diameter: 346 or 4660 864mm or 1,168mm
Brooder Height: 126 305mm
WEIGHT 18.6 Ibs 8.44 kg
VENTILATION REQUIRED| Per Brooder: 120 CFM 204 m3/hr
GAS CONSUMPTION Propane Gas: 0.32 GPH 1.21 L/hr
Natural Gas: 0.30 Therm 31.65 MJ/hr
ELECTRICAL SUPPLY Model 2 Control ONLY 24 VAC, 1 Ph, 60Hz0.5A | 24 VAC, 1 Ph, 60HZ).5A
Model 5 Control ONLY 24 VAC, 1 Ph, 60Hz, 0.8 | 24 VAC, 1 Ph, 60Hz, 0.8

T with Galvanized Canopy

Form No. 43539049
020 Oct2013



3.

BROODER CONTROL OPTIONS

Control No. 242B  For single or multizone installations using central or multiple thermostats. This 24

volt, AC, zoneaype contrd also can operate on DC voltage as a back up. The gas
valve includes a builtin regulator. A 24volt power supply is required. Brooder can
be operated by a 24volt thermostat, computer or an environmental controller.
100% gas safety shutoff valve.

Control No. 3 A modulating type HI/LO control with integral thermostat. No electrical supply is

needed. Upon call for heat, the valve will open from it to low fire (approximately
22,000 Btu/hr) and modulate between low and high fire (30,000 Btu/hr) as
necessary to maintain desired temperature setting. As the thermostat is being
satisfied, the valve will modulate down to low fire and then drop to pilot upon being
satisfied. 100% gas safety shubff valve.

Control No. B/5D Designed for single omulti-zone installations using one or more thermostats. A

zone control (available as an accessory, Part #43619050) is required to provide a
24-olt power supply to each brooder. The burner is controlled with arBct Spark
Ignition (DSI) module which isdesigned to provide 100 percent gas shut off of the
main valve in the event that the main burner lame is not sensed.

Control No. 9 An individual, nonelectric, fully automatic ON/OFF control with integral thermostat,

which operates on milivots generated by the pilot. No electrical supply is needed.
Integral thermostat features a wide temperature range for easy adjustment. 100%
gas safety shutoff valve.

3a.

BROODER ACCESSORIES

Form No. 43539049
Oct2013

A)

B)

C)

D)

Zone Control Panel Model ZCP22, Part #43619050

This is apower supply control which utilizes a 375VA
transformer to provide the required 24VAC for single or
multiple groups (zones) oiNo. 2A or 5Bbrooders. Refer to
electrical section of manual for allowable heater quantities per
transformer.

Use power nverter kit #43619070 for battery back-up. P A Bkl

Power Inverter Kit (for battery backup), Part #43619070 (Not Shown
This provides temporary 120VAC to the brooder zone control (power supply) padating

power outages. The kit includes a battery trickleharger, changeover relay and power
inverter to convert 12 volt DC into 120 volt AQ(For No. 5B brooders only.)

Transformer Replacementd 375VA  120/240VAC 3 24VAC,
Part #30222070

Transformer
120/240 - 24VAC
375VA

Thermostatd Environmental (EWA-20), Part #30525010

Ratings: SPDT 120/240VAC, 16A Full Load

Temperature range: -40 Deg. F to 104 Deg. F +/2.5 Deg. F
Differential

Housing: Watertight ABS plastic meets NEMA 4x and NEC
Article 547-4 requirements for use in harsh environments.
Adjustable dial allows thernmostat to be recalibrated.

Environmental
Thermostat

330



E) Hose Kitsd No. 2A, 2B, 5B & 5D Controls

45’ Flare Fitting
3|/8'l Tube x 1/2°NPT

#

6FT Hose with 3/86 swive flare fittings
and 66 spring, Part #30522
10FT Hose with 3/86 swivel flare fitting
and 606 spring, Part # 3 @bakednl
e Spma e
Each kit includes (2 45 deg. flare fittings ( 3 / 8 6 e
tube x 1/ 26 NPT) for connection to main gas
valve and manual shutoff valve. afm
45 Flare Fitting
Hose Kits- No. 3,9 Controls /8" Tube x 1ZNPT
6FT Hosewi t h 3/ 806 swifvietlt ifregnal®end |@&é¢ espring, Part #
10FTHosewi t h 3/ 80 eflarefvietlt ifregnaland 66 spring, Part
Each kit includes (1) 45 deg. cohneciantomdnuat t i ng ( 3/
shut-off valve and (1) 45 deg. flare fitting( 3/ 8 6 t ub e xon®éti@ndo mdiRrgas f or
valve.
F) Manual Gas ShutOff BallValved 1 / 2 6 NP T, Part #30 5000
Manual Gas
Shut-Off Valve
G)  Wire Brushd Long, Part #43295020 mﬂﬂ’ﬂTﬂ] O
Wire Brushd Short, Part #43295010 ST e Brush - Long
(for emitter)
i
Wire Brush - Short
(for burner & pilot)
4, BROODER ASSEMBLY
Make sure that all components are present before assembling the brooder:
Qty. Description Qty. Description
(1) Control Arm (includes Pilot Assembly on 2, 2B, 3 and9 models)  (3) Support Brace
(1) Control Arm Mounting Bracket (1) Single Jet Burner Tube
(1) Fastener Kit (1) Windshield (Pilot models only)
(1) Burner Pan (1) Ceramic Cone
(1) Ceramic Holder Ring (1) Canopy( 466 or 346)
(1) Center Hanger (1) Ignition Control (58/5D models only)
(1) End Hanger (1) Ignition Control Bracket (5B/5D models only)
(1) Safety Pan (1) Electrode & Bracket (5B/5D models only)
(1) CeramicHeat Shield
NOTE The Fastener Kit contains all the screws, washers and nuts required for brooder assembly of each
control type. Discard any extra fasteners not required for a particular control type. Tools required to
assemble the brooder are as follows: 4] ust abl e Wrench, 3/ 86 End Wrench, 71

Screwdriver, and Pliers.

940

Form No. 43539049
Oct2013



Form No. 43539049

Oct2013

Heat

© ~~ Shield

Ceramic

Ceramic
~— Holder
Ring

Support
Brace

1/4-20 nuts

\ ™ 1/4-20 screws

Burner Pan

4A. CERAMIC CONE AND PAN ASSEMBLY

1. Loosely attach the three (3) support braces to the burner
pan using three (3) ¥20 screws and nuts from the fastener kit
Align the braces with the slotted holes located in the ceramic
holder ring and slide through the upper portion of the braces.
See Figure 1. Tighten the screws and nuts.

2. Place the ceramic cone into the hole of the ceramic holder
ring.

3. Fold the center tab of each support brace over against the
ceramic cone using a screwdriver and a pair of pliers. See
Figure 2.

NOTE BE CAREFUL NOT TO CRACK THE CERAMIC CONE.

4. Place the heat shield onto the support braces and slide
down against the folded tbs.

FIGURE 1

AWARNING

: \é/ I
before attempting to re-light the brooder.
Failure to follow these instructions may
result in death, serious injury or property

FIRE HAZARD

DO NOT turn on the brooder with a
cracked ceramic cone. Replace the cone

damage.

Support
Brace

Ceramic\*

Cone

FIGURE 2
Heat Shield
Tab _ (slide down against
(fold over against  folded tabs)

ceramic cone)

850



4B. CANOPY AND HANGER ASSEMBLY

1. Place the three (3) canopy support plates over each support brace. Place the canopy over the assembly
so that the support braces slide through the slotted holes of theanopy. NOTE Orient the two (2) holes
in the canopy with the support brace closest to the large hole located in the burner pan. See Figure 3.

E e-Bolt with
1/4-20 nuts & washers
End Center
Hanger Hanger
1/4-20 screws ?

& nuts \a, R

° 1/4-20 screws

Cano

Reference

Hole
FIGURE 3

2. Assemble the end and center hangers to the support braces using five (5)-20 screws and nuts from the
fastener kit. Assemble the eyebolt to the center hanger using two (2) 220 nuts and washers. See
Figures 3 and 4.

Complete Hanger
Assembly

FIGURE 4

Form No. 43539049
060 Oct2013



4C. CONTROL ARM, PILOT AND BURNER JET ASSEMBIlof Models2A, 2B, 3 and 9 Only)

1. Gently pull the thermocouple out and away from the pilot assembly. Take care not to crimp the capillary
portion of the thermocouple.

1/4-20 Screws & Nuts
Bracket (4 each)

#8-32 x 2-1/2" Screws,
Nuts & Plastic Clamps
(2 each)

Single Jet

Burner Tube Tubing Control Arm Assembly

Pilot (complete with tubing,

Main Burner Orifice Assembly gilot assembly, orifice fitting
& Fitting main burner orifice)
Thermocouple
FIGURE 5

2. Place the bracket for the gas control arm over the canopy and secure using four (4)-20 screws,
washersand nuts from the fastener kit. See Figure 5 and 5a. NOTE Mounting the control bracket to a
346 canopy requires use of the set of holes |l ocated
Figure7. Attach the gas valve to the control arm backet using the fageners indicated above andbelow
for the 2A, 2B, 3 and 9 controls.

1/4-20 Screws & Nuts & 1/4-20 Screws & Nuts

Bracket (4 each) ‘/ (4 each)
10-24 x 3/8"
/ #8-32 x 3/8" , oz 8

Screws

No. 2A Control No. 2B Control

FIGURE 5a

Form No. 43539049
Oct2013 0798



3. Secure the pilot assembly to the burner pan using two (2) #1224 screws and nuts from the fastener kit.
See Figure6.

4. Reattach the thermocouple to tte pilot assembly by sliding it through the large hole located in the burner
pan and into the pilot assembly until it snaps into position.

Slide windshield into
slot of ?ilot holder
bracket.

Windshield

/

‘ — FIGURE 6

L=~ o

Pilot Holder
Bracket #10-24 screws
& nuts

7

5. Slide the main burner and orifice fitting through the center hole located in the burner panNOTE The

tubing may need to be bent slightly by hand for alignment with the fitting. Take care not to crimp the
tubing.

6. Screw the single jet burner tube onto the orifice fitting until it is snug agaist the burner pan. See Figure
6. Use an adjusable wrench or pliers to hold the fitting in place while tightening the burner tube.

7. Slide the windshieldinto the slotted portion of the pilot holder bracket. See Figure 6.

4D. CONTROL ARM AND BURNER JET ASSEMBISY Models5B and 5D Only)

1. Place the bracket for the gas control arm over the canopy and secure using four (4)-20 screws and
nuts from the fastener kit. See Figure 6aand 6b. NOTE Mounting the control brac
requires use of the set of holes located at the engbortion of the control bracket only. See Figure 7.

2. Attach the gas valve to the bracket and seare using four (4) #832 screws on control no. 5B and 5D.

Bracket 1/4-20 Screws & Nuts
(4 each)
#8-32 Screws
(4 each)

No. 5B Control

Control Arm Assembly
(Complete with tubing,
. orifice fitting & main
Tubing burner orifice.)

Single Jet
Burner Tube

Main Burner Orifice
& Fitting

FIGURE 6a

Form No. 43539049
080 Oct2013



3. Slide the main burner and orifice fitting through the center hole located in the burnepan. NOTE The
tubing may need to be bent slightly by hand for alignment with the fitting. Take care not to crimp the
tubing.

4. Screw the single jet burner tube onto the orifice fitting until it is snug against the burner pan. See Figure
6a. Usean adjustable wrench or pliers to hold the fitting in place while tightening the burner tube.

1/4-20 Screws & Nuts
(4 each)

#8-32 x 3/8”
Screws

No. 5D Control

FIGURE 6b

4E. IGNITION CONTROL ASSEMBIDYSI Models5B and 5D Only)

1. Preattach the box support bracket to the underside of the ignition control assembly usingne (1)
#10-24 hex locknut from the fastener kit. See Figure 6¢

2. Preattach the box support brace to the box support bracket using (1) #2824 x 3/ 86 screw fr ¢
fastener kit. See Figure 6c¢.

#10-24 x 3/8" | Snsl":;%\bﬁlontrol

Screw

Box Support Bracket .
Ignition Cable

Box Support Brace

Place bracket
lip in recessed
area of box.

Side View

FIGURE 6¢

2. Loosen the ¥+20 screw and nut (instaled earlier) from the end portion of the center hanger. Position the
ignition control assembly so that the slotted hole of thesupport braceis centered between the end of the
center hanger and the head of the %20 screw. Slide the bracket down until itis flush against the
canopy to prevent the ignition control assemly from twisting. See Figure 6¢

3. Retighten the ¥4-20 screw and nut.

Form No. 43539049
Oct2013 090



4F. ELECTRODE AND CABLE ASSEMBD¥! Models5B and 5D Only)

1. Fasten the electrode holder bracket assembly tohe support brace using two (2) #1624 screws and nuts.
See Figure 6d NOTE The electrode holder bracket is attached to the support brace locateddme with
the control arm tubing.

2. Place the electrode (spark igniter) onto the holder bracket andecure using two (2) #832 screws and
nuts. See Figure 6d

3. Slidethe ignition cable quick connect terminal over the electrode until it snaps in place.

FIGURE @ Support
Brace
#10-24 Screws
& Nuts
Electrode

(spark igniter)

Electrode Holder

... Bracket Assembly

Ignition
able

#8-32 Screws

& Nuts

4G. GAS VALVE WIRE CONNECTIONS

1. DSI Models5B and 5D: Locate the two (2) blue wires from the ignition control assemblycontrol no. 5B
and 5D only). Connect these to the valve terminals shown in Figure 6e&Refer to the wiring diagram
location in Section 8,Electrical Connections.

2. Pilot Models 2A and 2B: Connect the24V supplywires (field supplied)to the gas vale of control no. 2A
and 2B. See Figure 6e

Wire Connection
Terminals

Terminals:
2A Controls - THITR
5B Controls - MV/MV

Wire Connection

Terminals TH/TR
CONTROL NO. 2A & 5B
CONTROL NO. 5D CONTROL NO. 2B
ﬁoAr?e‘xvlé‘lﬁqo VR8200M (2A) GAS VALVE A VALV o 7000ERLC
Honeywell No. VR8205M (58B) White-Rodgers No. 36J22 obertshaw No.

FIGURE 6e

Form No. 43539049
81008 Oct2013



4H. COMPLETE BROODER ASSEMBPYot Models Shown)

Complete Brooder Assembly
(with 46” canopy)

@
/ - } \
12" =
= —
.U
]
FIGURE 7
Complete Brooder Assembly
Q (with 34” canopy)
il i §
12” ==

P

p WARNING ONCE THE BROODER IS ASSEMBLED AND BEFORE IT IS FIRSY®AREDST CHECK FOR
GAS LEAKSIUSE A SOAP AND WATER SOLUTION AND APPLY AT ORIFICE FITTING AND FIELD CONNECTION
AT THE GAS VALVE.

5. MINIMUM CLEARANCES TO COMBUSTIBLES

Minimum clearances to combustible materials shall
be measured from the outer surface of the canopy
as shown in the following table:

Ceiling
Plafond
FIGURE 7a 18" (46cm)
2
Side +— —~. . Side
Coteé \\ ﬂ / Cété
14" (36¢cm) =\ 14" (36cm)
Below
Dessous
32" (81cm)

Form No. 43539049
Oct2013 8116



6. BROODER INSTALLATION

1. Locate brooders approximately 258 to 4bbdoconfoandt o 12 m)
building heat loss. If more than one row is desired, stagger rows for best heat distribution.

2. Suspend the brooder at the desired height above the f
For brooders connected to a winlg (to allow for adjustment of brooder height), connect each brooder
using a chain or cable suitable for the weight of each broodeSee Figure 7b. DO NOTUSE ROPESize
the winch and cable so that it is capable of handling the total weight of all broodsrand gas piping
involved. NOTE Connect a safety chain to each brooder and anchor it to the house structure above each
brooder to prevent it from falling onto the litter if the cable/chain breaks or the winch fails. THE GAS
HOSE SHOULD NEVER BE USEB S3FETY CHAIN!

3. Connect the gas line and electrical supply (if required) to each brooder as outlined in Sections 7 and 8.
NOTE After connection of the gas line, make sure that the brooder is suspended with the control side
approxi mat el y low the othér 3idenoj thetbmoder to prevent hot products of combustion
from damaging the gas control valve.

4. Slight adjustments can be made to level the brooder by loosening the nuts that are securing the eyebolt.
Slide the eyebolt in the direction reuired as above.

Ceiling Structure

©

ﬂ%ﬂ \

Suspension chain or Satf’?ty %hai'f: %rt
cable attached to winch cable attachea to

house ceiling structure.
system. \ / (provide 2" to 6” of slack)

Gas Piping

FIGURE 7b

Form No. 43539049
8126 Oct2013



' WARNING

FIRE HAZARD

A safety chain must be connected from the hanging bracket to 4
fixed part of the building structure directly above the brooder.

The safety chain will prevent the brooder from falling to the dlor in
the event that the main suspension system fails

Failure to follow these instructions may result in death, serious
injury or property damage

GAS CONNECTIONS

Gas piping for the house must be sized to be capable of satisfying the entire demds of the house
should all equipment be operating at the same time. Please use Table 1 (taken from the National Fuel
Gas Code) for the sizing of piping for the house. An example using this table is shown.

Connect to the supply tank or manifold in acordance with the latest edition of the National Fuel Gas
Code (ANSI Z223.1) and/or local codes. Authorities having jurisdiction should be consulted before the
installation is made. Refer to the latest edition of CAN/CGA B.149/2 Installation Codes for Gas Burning
Appliances and Equipment in Canada.

Pipe joint compounds must be resistant to the action of liquefied petroleum (LP) gases.

Gas connections to individual brooders shall be made using flexible gas connectors, or they can utilize
rubber hosing suitable for LP gas usage (to allow movement of the brooders for cleaning, etc.). Check
with the authorities having jurisdiction and/or local codes prior to choosing an individual gas connection
method.

Connection to a new installation withaccessoryhose and fittings is shown below:
O

Apply LP and Natural Gas
approved thread sealant FIGURE @

S0\
\PEW, Eﬁ

Control Control Control Control
No.3and 9 No. 2A and 5B No. 2B No. 5D

g

Form No. 43539049

Oct2013

31306



